arcsec

arcsec

2

A
COO0 0O = =

2](degrees)

o[m=

V (km/s)

40

20

40

100
50

-50
-100

150

100

50

NGC 3213

oM Ao OOMN M

o

o

-40 -20 0 20 40
arcsec
&
' .9
| ‘ | | ‘ | | ‘ | | ‘ |
-40 -20 0 20 40
arcsec
-- A E
-- A E
Ag 7:
=
-~ M
= - K
S L e o
10 20 30 40 50
- ) . 1
C B s+t - + N
E T " ++ +7 E
- o+ " + -
. Jr -
-t - oy ]
R N T
- +
L ‘ ‘ ‘ ‘ Tlr _
10 20 30 40 50
Radius (arcsec)

5 10 15 20

Radius (arcsec)

25 30

0.30

0.23

10.15

10.08

-0.15

-0.23

-0.30

arcsec

-40 -20 0 20 40
arcsec
04" h= 08"
’ h=1.1"
h= 1.9
0.3°

0-0\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\7
0 10 20 30 40 50
Radius (arcsec)
— 120+~ E
g 1005 e, e e e e o — = = = = = == = = = =
< 80- =
E 60 E
= 400 E
20 - =
0 L ‘ ‘ ‘ ‘ ‘ ]
0 10 20 30 40 50
Radius (arcsec)
Q.. AT
oo & - Fpo & e
Qpeloeer ., Ay(f) e
rgz:)lo—corr . ATaX -
Qpareny . Vie, 1 96.77 7 km/s
rear-ony . Mawm | 24.75
(Qar-ony)halo-corr .- Vieum(Rop) © 89.87 75 km/s
(rear-onlyyhalo-corr . drVseum(0) © 129.17 505 km/s/kpc
Q) : - My/M, (<R, : 0.62
Qlatoeormp )z a: 5.0kpc
€ ... V_: 86.1 km/s
0.4~
B - Q
i Qhalo-corr
L T
0.3+
|_
@]

0-0\\\\\\\\\‘\\\\\\\\

0 10

20 30 40 50
Radius (arcsec)



